Atomic Energy Central School No. 4, Rawatbhata
Multiple Choice Question Examination (January)

Name of the student : Date : 28.01.2020
Class-1V Sec. Roll No.

Instructions : 1. Fill & darken roll number field correctly on OMR Sheet. In case of any error, OMR Answer
Sheet will be not be read by the OMR Scanner.
2. Darken the most suitable option no. on OMR Answer Sheet.
3. There is no negative marking.

1. Who is the poet of the poem 'The Naughty Boy'?

(a) John Keats (b) Rukmini Baneriji (c) P.A.Ropes (d) M.S.Russell
2. Which of the following things is made up of wood ?

(a) Balloon (b) Trousers (c) Eraser (d) Table
3. People living in Scotland are called as-

(a) Indian (b) Scottish (c) Australian (d) Scotti
4. Why did grandfather give the children money?

(a) To buy books. (b) To buy toys. (c) To buy candles. (d) To buy cloths.
5. Fill in the blank with a suitable conjunction.

Is Rita reading sleeping ?

(a) And (b) Or (c) But (d) Because
6. A building or room containing collections of books is known as

(a) Sports room. (b) Library. (c) Market. (d) Laboratory.
7.A is a place where aeroplanes take off and land.

(a) Hospital (b) Market (c) Airport (d) School
8. Fill in the blank with correct word family.

M___

(a) ell (b) ook (c) see (d) ail
9. What is the meaning of galore?

(a) in small number. (b) in great number. (c) in less number.  (d) few numbers

10. Fill in the blank with a suitable describing word.
A glass of milk makes your teeth

(a) Weak (b) Ugly (c) Strong (d) Bad.
11. The girl bought
(a) a book with many pictures. (b) a book with many stories.
(c) a skinny book (d) a book with few pictures.
12. Choose the incorrect statement.
(a) There were skinny books in the library. (b) Fat book stood by themselves.
(c) Children should tear their books. (d) Pictures told stories to the boy
13. Plural of shelf is-
(a) Shelves (b) Shelfs (c) Shellvs (d) Shelvs

14. Select the describing word from the given sentence.
She said sweet dreams to her mother.

(a) Dreams (b) Mother (c) Sweet (d) Said
15. In the poem 'The Naughty Boy', What kind of a boy was he?
(a) Curious (b) Sweet (c) Naughty (d) Happy
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A crab has 8 legs.
a.’7 b. 8 c. 12 d 4

crabs will have 64 legs.

Observe the pattern and tick the correct answer?

817 72Y 63X  ——m—mmmemeee-
a) 54y b) 45W c) 36U d) 54W
Choose the next term out of the given alternatives in the following pattern?

D-4, F-6 , H-8, J-10,-- ,

a) L-12, N-14 b) K-12, M-14 c) A-12, M-13 d) L-12, M-14
Fill the missing number. 454, 565, 676, --------
a) 767 b) 787 c) 454 d) 777

How many 50 rupees note will you get in change of Rs. 200?

a)5 b) 2 c)4 d)10
5759 + 325g + = 1kg
a) 300g b) 100g ¢) 200g d) 600g

Out of the following things which thing do you usually buy in grams?

a) Potato b) Wheat ¢) Rice d) Clove

Weight of one papaya is equal to 3 oranges and one mango weight is equal to 2 oranges. Weight of

how many oranges is equal to two papayas and one mango together?
a)7 b) 6 c)8 d) 10

There are 420 children in 10 equal rows. How many students are there in each row?

a) 42 b) 40 c) 56 d) 46
215+ 5=
a) 37 b) 36 c) 43 d) 47

There are 20 sweets in a packet. Weight of a sweet is 15 g, than what is the weight of all sweets?

a) 400 kg b) 1kg c)300g d) 100g

A packet of sugar weighs 500g. How many such packets would you need to make 3 kg of sugar?

a)5 b) 4 c)6 d)2

The rent of a cycle for 1 year is Rs 180, so the rent for 1 month is Rs.

a) Rs 30 b) Rs. 45 c)Rs. 15 d) 25

Ranu has 45 notes of Rs 20. She has total of Rs.

a) Rs.9000 b) 900 c) 4500 d) 90

In a secret code ORANGE is written as NQZMFD then the secret code of PAPAYA is-
a) QBQBzB b) QzZOBzz c) 0Z20zZxz d) OBQBWZ
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46. What is langar?

(a) Meeting of few people. (b) Cooking and eating the food together in
gurudwara.
(c) Discussion of old people. (d) None of these.

47. A sweet prepared in Langar is

(&) Chocolate cake (b) Kadhah Prasad (c) Puri, halwa, sabzi (d) All of these
48. Why is there a quarrel in Marietta's family ?

(a) For food (b) To watch over T. V. (c) To dance over song (d) To go picnic
49. What did Dhondu want to do?

(&) To buy Buffalo  (b) To buy a car (c) To buy chakki machine (d) to buy a tractor
50. Ritu was afraid of Meena's

(a) Father (b) Mother (c) Uncle (d) Sister
51. What is loom ?

(@) Loom is a machine that is used to weave clothes.
(b) Loom is a car that is used for traveling.

(c) Loom is a fruit.

(d) Loom is the friend of Meena.

52. What is traditional occupation ?
(&) The occupation that we learn from our school teachers.
(b) The occupation that we learn from our forefathers.
(c) The occupation that we learn from our friends.
(d) None of these.

53. Which are traditional occupation ?

(a) Saree weaving (b) Carpet weaving (c) Itr making (d) All of these
54. Assam is famous for which traditional work -

(a) Painting (b) Silk (c) Shawl (d) Embroidery
55. Why was Shanta not tired ?

(a) Because she came from a train. (b) Because she came from a plane.

(c) Because she came from a cycle. (d) Because she came from a car.

56. What are sand dunes ?
(&) Mountains made of only sand are called sand dunes.
(b) Mountains made of only stone are called sand dunes.
(c) Mountains made of only ice are called sand dunes.
(d) Mountains made of only globe are called sand dunes.

57. can bring water in your eyes and nose.

(&) Turmeric (b) Chilli (c) Cardamom (d) Coriander
58. Black pepper is small and round like a

(&) Apple (b) Pearl (c) Pineapple (d) Watermelon
59. state has many gardens of spices.

(a) Maharashtra (b) Kerala (c) Haryana (d) Punjab

60. Clove looks like nail but actually it is a
(a) Bird (b) Bud (c) Fruit (d) Flower
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